REVISIONS ITEM NO. |PART NUMBER DESCRIPTION FINISH [WEIGHT (PER)|QTY.
REV. DESCRIPTION DATE APPROVED n "
" 2172 THREADED ROD FOR 2-3/8'T0 & OD. CLAMPS P - 1 GP2375.126 2-3/8"O.D. x 126" PLAIN END GALV PIPE H.D.G. 38.49 1
HAS BEEN REPLACED WITH ©5/8" THREADED ROD ' 2 TW1315.01 CROSS OVER CLAMP BRACKET, SM TO SM (WELDMENT) |H.D.G. 2.46 ]
3 TW1316.01 SMALL TO MEDIUM CROSSOVER BRACKET H.D.G. 3.64 1
4 TW1320.01 CLAMP HALF 1-1/2"TO 3-1/2" OD ROUND (1/2" PLATE) |H.D.G. 1.20 3
S TW1321.01 CLAMP HALF 2-3/8"TO 5-9/16" O.D. ROUND (1/2" PLATE)|H.D.G. 2.44 ]
6 GR500.006 1/2" X 6" THREADED ROD H.D.G. 0.33 6
7 GFO4 1/2" FLAT WASHER H.D.G. 0.04 12
8 GLO4 1/2" LOCK WASHER H.D.G. 0.02 12
9 GNO4A 1/2" HEX NUT (2H) H.D.G. 0.06 12
10 GR625.006 5/8" X 6" THREADED ROD H.D.G. 0.52 2
11 GFO5 5/8" FLAT WASHER H.D.G. 0.08 4
12 GLOS 5/8" LOCK WASHER H.D.G. 0.03 4
13 GNO5SA 5/8" HEX NUT (2H) H.D.G. 0.12 4
2X 2X 2X
(4) PLACES
SCALET FITS 2-3/8" O.D. TO 4" O.D. PIPE
2X 2X 2X
FITS 1-1/2" O.D. TO 3-1/2" O.D. PIPE @@@0
DETAIL B (4) PLACES
SCALE 1 :4
UNLESS OTHERWISE SPECIFIED: DESCRIPTION: UNIV. STIFF ARM KIT, 2-3/8" O.D. X 10'-6"
DIMENSIONS ARE IN INCHES 1-1/2"T0 3-1/2" O.D. - 2-3/8"TO 4" O.D.
TOLERANCE + 1/16 PRO TOWER DWG NO
SlZE PROPRIETARY AND CONFIDENTIAL MANUFACTURING SA] 333' ] 26
B | miremrorcommeonre LLC. I A A
OLD P.N.: PRO TOWER MANUFACTURING L.L.C. ANY H ECREDBY: :
sz | ecoicmonsine | B R uqueraue, NV 87108 e |99 [
HD.G. ggg;g‘\;\lg MANUFACTURING LL.C. 1S (505) 924-2810 SHEET: 1 of | SCALES NTS 56.08




	Sheet1
	Drawing View1
	Detail View A (1 : 4)
	Detail View B (1 : 4)


